EXERCISE OF VERBAL INTELLIGENCE TEST

1) Which statement is true for the word FLOWER?

a) R comes after W  b) L comes befare O

c) E comes after W  d) None of these
2) Pen is to Ink, Pencil is to?

Al  Write B) Draw C) Lead D) Sketch
3) Select the odd one out:

A) Horse B)] Donkey C) Goat D) Kangaroo
4) Which number doesn’t belong to the following series:

79 70 60 S58B 49 137
5)

Al 58 B) 49 C) 79 D) &0
6) Which number is next in the series :

19/6917/54 13/20

Al 96/11 B] 13/54 ) 1/o D) 17/69
7) Which is the middle alphabet, if you rearrange the word
“CONSTITUTION" in descending alphabetical order.

A) U B O C | D S
g8) If B is taller than A, B and C are the same, then :
Al Aistallerthan C B) AisegualtoC

C)] Cisshorterthan A D] Cistaller than A
9) If rearranged “amgreyn” is a:
A)]  Country B) Ocean
C) Planet D] None of these
10)1f SOLID is to 37541 and RIVER is to 64896, then SOLDIER is to:
Al 3758964 B) 3756986 C) 375149 D) 3759143
11)Next in the following series:
0.32 0.66 0.36 0.18



A) 040 B) 088 C) 063 D) 023
ANSWRES:

1.8 2.C 3.D 4.A 5.C
6. B 7.D B.A 9.C 10.B
Directions:

In each of the following question, a number series is given with
one term missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in
the given series

1.1,9,25, 49, 7, 121

(a) 64 (h) 81 (e) o (d) 100 (e) None of these
2.4,7,12,19, 28, ?

(@)oo (b)36 ()39 (d)49  (e) None of these
3. 11,13, 17, 19, 23, 25, ?

(a)a6 (b)27 (e)20 (d)37 (e) None of these
4. 6,12, 21,7, 48

()33 (b)38 (c)40 (d)45 (e) None of these
5.2, 5,9, ?, 20,27

(a) 14 (b) 16 (c) 18 (d) 24 (¢) None of these
6. 6, 11, 21, 36, 56, 7



(a)42  (b) 51 (c) 81

7. 10, 18, 28, 40, 54, 70, ?

(a)85 (b)86 (c)B7
8. 120, 99, 80, 63, 48, ?
(a)35 (b)38 (c)39
9. 22,24 ,28, ?, 52, 84
(a)aé (b)38 (c)42
10. 4832, 5840, 6848, 7

(a)7815 (b)7846 (c)7856

11. 10, 100, 200, 310, ?

(a)400 (b)410 (c)420

12.0,2,8,14,2.39
(a)20 (b)23 (c)24
13. 28, 33, 31, 36, ?, 39
(a)az  (b)34 (c)38
14. 125, 8o, 45, 20, ?
(a)5 (b) 8 (c) 10
15. 2, 15, 41, 8o, ?

(a)s1  (b)57 (c)én
16. 2, 15, 41, 80, ?

(d) 91 (e) None of these

(d) 88  (e) None of these

(d)4o0 (e)Non

(d) 46 (¢) None of these

(d) 7887 (e) None of these

(d) 430 () None of these

(d) 25 (e) None of these

(d) 40 (e) None of these

(d) 12 (e) None of these

(d)63  (e) None of these



(a)83 (b)izo (c)i21 (d)132 (e) Non

17. 6,17,39, 72, ?

(a)83 (b)og (c)ubé (d)i127 (e) None of these
18. 325, 259, 204, 160, 127, 105, ?

(a)g4 (blg6 (c)o8 (d) 100 (e) None of these
19. 1, 4, 10, 22, 46, ?

(a)64 (b)86 (c)og (d)i122 (e) None of these
20. 0.5, 0.55, 0.65, 0.8, ?

(a)o.g (b)o.Bz (c)1(d)o.gs (e)None of these
21.5,0,9,15,7, 40

(a) 21 (b)zs (c) 27 (d) a3 (e) None of these
22.2,3,5,7,11,17,?

(a)12 (b)13  (c)14 (d)15  (e) None of these
23. 4, 9, 25, ?, 121, 169, 289, 361

(a)g9 (b)64 (¢)81  (d)87  (e) Noneof these
24.1,9, 25,49, 81,7

(a)ioo (b)nz (e)121  (d) 144 (e) None of these
25.1,1,4, 8, 9, 27, 16, ?

(a) 32 (b) 64 (e) 81 (d) 256 (e) None of these
26. 4,12, 36,108, ?



(a)14q (b)216 (c)304 (d)324 (e) None of these
27. 1,1, 6, 24, ?, 270

(a)1oo (b)1og (e¢)108 (d)120 (e) None of these
28. 240, ?, 120, 40, 10,2

(a)180 (b)240 (c)420 (d)480 (e) None of these
29.4,6,9,13.5

(a)17.5 (b)1g (c) 20.25 (d) 22.75 (e) None of these
30. 5760, 960, 7, 48,16, 8

(a)izo (b)160 (c)i1gz (d)240 (e) None of these
31.1,2 6,7, 21, 22, 66,67,7

(a) 70 (b)134 (c)zo1 (d)301 (e) None of these
32.48, 24,96, 48,192, 7

(a)76 (b)go (c)zor (d)3zor (e) None of these
33.1,2,3,6,9,18,7, 54

(a)18 (b) 27 (e) 36 (d) 81 () None of these
34. 165, 195, 255, 285, 345; ?

(a)375 (b)390 (c)420 (d)435 (e) None of these
35- 9, 27, 31, 155, 161, 1127, 7

(a)316 (b)n3s (c)1288 (d) 2254 (e) None of these
36. 2, 3, 3, 5, 10, 13, 7, 43, 172,177



(a)23 (b)38 (c)39 (d)4o0
37. 3,15, 7, 63, 99, 143

(a)27 (b)3s (c)45 (d)56
38. 7, 26, 63, 124, 215, 342, 7
(a)39r (bl 421 () 481 (d) 511
39. 3, 7, 15, ?, 63, 127,

(a)go ()31 (cdg7 (d)52
40.4,10,7, 82, 2344 730, 7

(a)24 (b)28 (c)77 (d)218
41. 6, 13, 25, 51, 101, ?

(e) None of these

(&) None of these

(e) None of these

(e) None of these

(e¢) None of these

(n)zo1 (b)zoz (c)z203 (d)zo5 (e)Noneof these

42. 8, 28, 116, 584, ?

(a) 1752 (b) 3502 (c) 3504 (d) 3508 (e) None of these

43.6,13,28,59,7

(@) (b)mg (c)ug (d) 122
44.3,7,23.95, 7

(a)62  (b)128 (c)479 (d)575
45.2,3, 8,27, 12, ?

(a)226 (b)339 (c)452 (d) 565
46.1, 5, 14, 30, 55,91, 7

(&) None of these

(¢) None of these

(&) None of these



(a)130 (b)140 (c)150 (d) 160
47. 198, 194, 185, 169,?

(a)o2 (b)uz2 (c)136 (d)144
48.2,2,5,13,28,?

()49 (b)so (e)s1  (d) 52
49. 2, 7, 27, 107, 427, ?

(a)1262 (b)1707 (c)q027 (d) 4207
50. 24, 60, 120, 210, ?

(a)goo (b)336 (c)420 (d)s525
51.3,12, 27, 48, 75, 108, ?

(a)147 (b)162 (c)183 (d) 192
52.563, 647, 479, 815, 7

(a)672 (b)386 (c)279 (d)143
53.5:2,7,9,16,25,7?

(@)1  (b)45 (c)48 (d)52
54. 10, 14, 26, 42, 70, ?

(a)ioo0 (b)ioz (c)io6 (d) 114
55.2,8,16,128 ?

(e) None of these

(e) None of these

(e) None of these

(e) None of these

(e¢) None of these

(e) None of these

(e) None of these

(e) None of these

(e) None of these

(a) 2042 (b) 2046 (c) 2048 (d) 2056 (e) None of these

56.3, 10,101, 7



(a) 10101 (b) 10201 (¢) 10202 (d) 11012
(e) None of these

57. 580654237, 89654237, 8965423, 965423, 7

(a) 58965 (b) 65423 (¢) 89654 (d) 96542
(e) None of these

58. 5824, 5242, 7, 4247, 3823

(1) 4467 (b) 4718 (c) 4856 (d) 5164 (¢) None of these

59- 1,3, 4, 8,15,27,?

(a)37 (blaa (c)50 (d)55 (e) None of these

60. 66, 36,18, 7

(a) 3 (h) 6 (c) 8 (d) g (e) None of these
61.3,8, 13,24, 41,7

(a)70 (b)75 (c)80 (d)85 (e) None of these

62. 45, 54, 47, 7, 49, 56, 51, 57, 53

(a)48 (b)so (c)55 (d) None of these of these

63. 6,18, 3, 21,7,56,?

(a) 8B (bl g (c) 63 (d) 64 (e) None of these
64.2,15,4,12,6,7,7,7

(a)8,8 (b)8B,0 ()38 (d) None of these of these

65. 20, 20, 19, 16,17, 13, 14, 11, ?, ?

(a) 10,10 (b) 10,11 (c) 13,14 (d) 13, 16 (e) None of these



66. 20, 20,19, 16,17, 13, 14,11, ?, ?

()28 ()30 (c)32 (d)as  (e) None of these
67.13, 35, 57, 79, 911, 7

(a)mio (b)mz (c)imz (d) 1315 (e) None of these
68. 625, 5, 125, 25, 25, 7, 5, 7

(a) 5 ()25 (e)125 (d) 625 (e) Noneof these
69.3.4,7,7, 13,13, 21, 22, 31, 34, 7

(a)g2 (b)4z (c)51 (d)52  (e) Noneof these
70. 11, 10, 7, 100, 1001, 1000, 10001

(a)io1 (b)no (e)in (d) None of these of these
71. 13, 32, 24, 43, 35 ? 46, 65, 57, 76

(alJ45 (b)52 (e)54 (d)55  (e) None of these
72.0,4,6,3,7,9,6,7,12

(a) 8 (b) 10 (e} 11 (d) 14 {e) None of these
73.2,1,2,4.4,5,6,7,8,8,10, 11,7

(a)o (b)io (eJun  (d)12  (e) None of these
74.8,9,8,7,10,9, 6, 11,10, ?, 12

(a) 5 (b)7(c) 8 (d) 11 (e) None of these

75. 90, 180, 12, 50, 100, 200, ?, 3, 50, 4, 25,2,6,30,3 ?
(a)i150 (b)175 (c)225 (d)250 (e) None of these



76. 3, 10, 29, 66, 127, ?

(a)164 (b)187 (c)216 (d)218 (e) None of these
-7. 2, 12, 36, 80, 150, ?

(a)194 (b)210 (c)252 (d)258 (e) None of these
78. 2, 9, 28, ?, 126, 217, 344 ?

(a)so (b)65 ()70 (d)B2 (&) None of these

79. In the series 10, 17, 24, 31, 38,....which of the
following will be a number of the series?

(a)48 (b)346 (c)574 (d) 10003 (¢) None of these

80. Which of the following will not be a number of the
scries 1, 8, 27, 64, 125,..7

(n)256 (b)s12 (e¢)720 (d) 1000 (e) None of these
81. In the series 3, 9, 15, . . ., what will be the 21*term?
(a)urz  (b)i1za  (c)i123 (d) 129 (e) None of these

82. In the series 2, 6, 18, 54.. . . ., what will
be the 8 erm?

(a) 4370 (b) 4374 (¢) 7443 (d) 7434 (e) None of these
83. Which term of the series 5, 8, 11, 14,4€,.is 3207

(a) 104" (b) 105" (c) 106™ (d)64™ (e) None of these
84. Which term of the series 5, 10, 20, 40, &€|.is 12807
(a) 10t  (b)o™ (c) B (d) None of these of these



Answers

L {b)| 2. (¢) 2.0e) 4. 1a) 5. (4) 6. (c) ) S L) 9. La) 10
(il) i
11. | | 13. 14 15 16, 17 19 10} 20,
(d) () () (@) (] {d) ) () (i) (i
21. | 22. | 23. | 24. | '25. | 26. | 27. | 28, | 29 20,
() (b) (a) () (h) (d) (d) (bh) ) (]
4 32 13 14 } 3 T 28 10 i
L) () {h) (¢l) | | i il Y
lj 12 -1 1 = |:|. 1.""' 7 ' 3L '-:,E:I
() () {cd) () i) (b) 1) ) (1)
al 52 3 34 DD i >/ S50 50 £
(a) | (d) | (@) | (@) | (c) | (e} | (d) | (D) ) (c)
61. | 62. | 63. | 64. | 65. | 66. | 67. | 68. | 69 0.
(a) | {c) | (@) | (b) (a) | (d} | (¢) (c) (h) (a)
. | 72| 73| 74 | 6. | 76: | 77| 78 . | 8¢
() []1| []'-_l (a) i) il (e | el ]

81. | B2. | 83. | Ba.
(¢) | (h) () (h)

INSERTING THE MISSING CHARACTER

1) Insert the word thal completes the first word and
begins the second.
PRACT {...} BERG

2)Find the odd man out:
(A) BLOW (B)NOPOS  (C)LETAP (D)DHATUMB



3) Insert the missing word.
ORBIT {RILE} WHEEL
ARSON {....}STEMS
4)Insert the missing number.
196 {25} 324
329 { h37
5)What is the next number in the series?
1810 6 47
6)Find the odd man out.
(A)BALET (B)RACIH (C)PATERC (D)NACIMORA
7) Insert the missing letter.
WTPMI?
8)Insert the word that completes the first word and
begins the second.
SHR {...} LING
9)Insert the missing number.
4920
8514
1037
10) Insert the missing number,
16 {27} 43
294} 56
11) Insert the missing number,
611727
12) Insert the missing number,
12 {56} 16
17{} 2
13) Insert the missing word.
ETHYL {HERO} FROWN
UNTIL {....}) ABEAM
14) Insert the word that completes the first word and
begins the second.
SP{...)JOW
15) Find the odd man out.
(A)JGABER (B)YRFRE (C)NUKKS (D)THACY



16) Insert the word that means the same as the two
words outside the brackets.
LIGHT {.....}) COMPETITION
17) Insert the missing letter.
ADG
DHL
HM?
18) Insert the missing word.
SMITH {TIDE} BREAD
GROSS {....}) GROWL
19) Insert the word that means the same as the two
words outside the brackets.
CARD-GAME {.....} ROD
20) Insert the missing number.
18277

ANSWERS

1. ICE

2. Mudbath. {All the others are kitchen utensils: bowl,
spoon, plate.}

3. Rose.{The first letter of the word in brackets is
thesecond letter of the first word, the second is the

fourth letter of the first word, the third is the fifthletter of

the second word, the fourth is the third letterof
the second word. }
. 25. {Add the six digits outside the brackets together.}

and then dividing by 2; 4+2=6; 6 divided by 2=3.}

. NACIMORA

F. {Skip 2 and 3 steps back in the alphabet alternately.}
. Ink

. 11, {Take half the first number in each row, add twice the
second number, and you get the third.}

W omesl o n b

. 3. Each number is obtained by adding 2 to the previous one,



10. 27. {The number in the brackets is the difference
between the numbers outside the brackets.

11. 18. {The square numbers 2, 3, 4, 5 respectively, adding
2¢ach time.}

12. 76. {Add the numbers outside the bracket and double
the sum.}

13. Tube. {The first letter of the word in brackets is the
third letter of the first word, the second is the first letter of
the first word, the third is the second letter of
the second word, the fourth is the third letter of the
second word. }

14. End.

15. Skunk. { All the others are boats : barge, ferry , yatch.}

16. Match.

17. R. {Skip 2, 3, and 4 letters respectively in the three
rows.}

18. Salo. { The first letter of the word in brackets is the
fourth letter of the first word, the second is the third letter of
the first word, the third is the fifth letter of the second word,
the fourth is the third letter of the second word.}

19. Poker.

20.  64. {Cube numbers 1, 2, 3, 4 respectively.}

Exercise # 4
1) Which pair is different from other?
© War, peace
: W virtue, vice
. T solid, liquid

®  victory, wisdom

2) If add is to addition then admit is to
© admiration

* admission

I dgregment



“  allotment

3) Knock is to door then Jing ling is to?
coins
drum
water

wind
4) Pick the odd one out:

sst
5pS
5po
sdo
odp
Day is to night then moming is to:
light
BVENINE
darkness
brightness
Ball is to bat as car is to:
clothes
diesel
shape
soap
Which no does not belong to the series?

r
'
r
-

-
r
r
[

e B B e R = . T I B T T T T

gmqmmw

8) Soldier is to general then doctor is to:



Madicine
Surgeon
disease

= - = Wi e

none
Adversity: prosperity:: ascent ?
departure
descent
debtor
demerit
10) Asses: foals :: cows?
" kittens
fawns
puppies
calves
11) Day is to night as winter is to:
: Spring
autumn
suMmmer
fog
12) If head is to foot then ceiling is to:
“ floor
walls
door

stair
13) Behave: Behavior :: Bear : ?

bellef
blessing
belonging
birth

S e e -

r
-

i

-
-

r

P
=
-

¥ 30 5




-
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14) Compulsion : completion :: compare ; 7
compulsion
completion
comparison
confirmation
15) Able is to enable as base is to?
™ embitter
T fasten
©  debase
©  deepen
16) Drive: driver :: deliver : 7
“  delivery
©  defense
“  denial
T division
17) Pick the odd: Nose, Eyes, Lips, Chest, Ear
MNose
Eyes
Lips
Chest
Ear
) Foot is to walk as nose is to:
eat
smell
sight
touch
) Repeat : repetition :: repent : ?
reduction
revolution

~

E"‘I".‘r"‘l"‘l"r



repentance
none
20) Able : ability :: absent : ?
absence
T activity
civility
« T accuracy
21) books for pile: rain for?

« T water

r
. shower

« T wet
- © foggy
22) Soldiers for army : scouts for

« T team

« 7 troop

« T police

« 7 ranger

23) Free is to freedom as gallant is to:
happiness

greatness

gallantry

. gaiety
24) Mansan : wall :: beast suitable pair?

« T fisherman : trout

« 7 author: book

« T artist : easel

« © man:woman

25) Negative : positive :: public : ?

« T society

-

w M e T |



. private
« 7 loneliness
« T separate
26) Power Is to empower as spark is to
« 7 tabulate
- © sparkle
« 7 imperil
« T enslave
27) Pick the best suitable meaning for SLOTH
« © abasement
« 7 cleanliness
« T industry
-

. pragmatism

28) Flower for bunch : deer for?
herd

stable

group

. room

29) War: peace : import:?
abroad

foreign

export

T 99D

-

o S s T %

. exporter
30) As bold as lion : as sharp as?

knife
razor
cutter

. sword
31) Stick for bundle : mountain for?

a0 B 5



s Bl s Bl

range
chain
height

anow

32) Exterior is to interior as dwarf is to?

T 0D

giant
grant
small
big

33) As bright as day : as black as?

Iy Iy 7

coal
night
road

shy

34) Synonym :antonym :: active : ¢

7T 2D

35)

3D 9 D

lazy
cowardice
passive
actor

Press: Pressure :: Pray : ?

prayer
payment
pared

paid

36) Antlers : stag :: beast suitable pair?

5 B S Wllo

harns : bull
man : lion
wings : eagle
hoofs : horse



37) Hen :chicken :: beast suitable pair?

. 7 duck : drake

« 7 dog: kennel

. U goose : gander

» ' horse : bridal

38) Disease Is to health as falsehood Is to?
true

truth

correctness

. false
39) Aswhite as snow : as sweat as?

apple

honey

sugar

sugarcane

dﬂ] As pale as death : as hard as?

pebhle
rock
stone

sword
4ll See :sight ::sing: ?

¢ singer

-r'ﬁﬂnﬂ

O SINGINE
v ¥ sought

42) Lectures for course : class for?

s s W B

o JiE o B M

=Nl BEw s

-1
=
b



« © student

43) Route : defeat :: choose best pair?
. owvation : applause

pathway : ruin

triumph : failure

-

-

3 5 T 9

. grief : loss

44) As green as grass : as cunning as?
. lian
fox
bear

. dog
45) Water : waves :: beast suitable pair?

wood : splinter
fire : ashes

event : memories
. accident : delay

> 5 9 D

7 P B I

Answer keys:
1.0 28 3. 4 5 6 7 8 9.

14. 15. 16. 17. 18. 19. 20. 21 22
260 27, 27. 28. 29. 30. 31. 32 33

38.8 398 40.C 41.B 42.D.43. a44. 45

10. 11. 12. 13
23. 23. 24. 25
34. 35. 36. 37

Test #5

(1) Rearrange the following letters to make a word and choose the

category in which it fits. RAPETEKA
A, city
B. fruit
C.bird
D.vegetable



(2). Find the answer that best completes the analogy people :
democracy :: wealthy :

A.oligarchy

B.oligopoly

C.plutocracy

D.democracy

E.autocracy

(3). Find the answer that best completes the analogy languages :
meaning :: philology :

A.erudition

B.philosaphy

C.ethics

D.semantics

E.grammar

(4). Which one of the sets of letters below can be arranged into a five
letter English word?

ALATRUN

BPODEB

CRNASL

DMOHAT

EETLRN

(S). Find two words, one from each group, that are closest in
meaning. Group A raise floor stairs Group B top elevate basement

A.raise and elevate

B.raise and top

C.floor and basement

D.stairs and top

(6)Which group of letters is the odd one out?

aJCEFH  b)LNOQ cjuwxz d)HIKN  f)PRSU g)DFGI

What numbers should replace the question marks?

100, 95, 7, 79, 68, 7, 40, 23



(7)Associate is to colleague as accomplice is to:
ajconsort bjfriend, c)accessory, djcomrade, fifollower

(8)Which is the odd one out?
alfamous, blillustrious,  clacclaimed,  djfabulous, e)noteworthy

(9)GAINED VOTE is an anagram of which two words that are
similar in meaning?

{10)Which word in brackets is most opposite in meaning to the word
MITIGATE

ajaugment, b)palliate, clappreciate, d)trust, e)destroy)

(11)What letter is three to the right of the letter immediately to the
left of the letter which is four to the left of the letter G?
ABCDEFGH

(12)What number should replace the question mark?
0, 19, 38,57, 7, 95

(13)What number should replace the question mark?
10, 21, 33, 46, 60, 75, ¢

(14) Digital is to numbers as analogue is to:
a)symbols, b)hands, c)jtime, d)register, ejchronometer

{15)concept is to notion as fixation is to:
ajobsession, b)idea, c)intuition, djapprehension,
) proposition

(16)confound is to bewilder as astound is to:
ajsurprise, bjconfuse, c)startle, d Jastonish, e)horrify

(17)corolla Is to petals as pedicel is to:
ajflower, bjstalk, cjroot, d) leaves, flanther

(1B)limerick is to five as sonnet Is to:
ajfour,  bjeight, c)twelve, d)fourteen,  e)sixteen



(19)laser is to beams as strobe is to:

a)intensity, bifiashes, c)signals, d)X-rays, e)lamps
(20)east is to orient as west is to:

ajaoristic, bjoccident, cjorison, d)ottoman, ejocean
(21)artist is to brush as scribe is to:

a)paper, b)pen, c)book, d)words, e)page
(22)squander is to waste as employ Is to:

ajexploit, bjobtain, c)benefit, djconsume, eluse
(23)continue is to resume as continuous is to:

ajperseverance, bjunbroken, cleveriasting, d)repetition,
e)persist

(24)cleaver is to cut as auger s to:
ajdrill, blchop, cjhammer, djshape, elsaw

(25)aspiration is to ambition as fruition is to:
ajrealization, b)success, cjvictory, d)recognition, e)desire

(26)Only one of the groups of five letters below can be rearranged to
spell out a five-letter English word. Find the word:
a)PCEOL b)GRILN cJNBDRA d)BILPO

(27)Only one of the groups of five letters below can be rearranged to
spell out a five-letter English word. Find the word:
aJHURPA b)ATHOC C)NFEQT d)ECILP

(28)Only one of the groups of five letters below can be rearranged to
spell out a five-letter English word. Find the word:
a)llEABY b)LIROW c)JCANTU d)PEQOTM

Replace the question mark with the correct number in Q29- Q48
(29) 0, 1,4,9,16, 25, 36,49, ?
(30) 9,18, 27,7, 45,7, 63



(31) 3100, 96.75,93.5, 90.25, 87, 7
(32) 40,100,6,94,12, 88, 18,82, 7,7

(33) 517, 34,51,68,7

(34) 61,1,2,7, 24,120,720

(35) 7100, 98, 94, 88, 80, 70, ?

(36) 815,3,55,9,135,?

{37) 9100, 50, 200, 25, 400, ?

(38) 102,5.75,7, 13.25,17, 20.75

(39) 11100,1,97.5,35,925,85,85,16,7.7
(40) 12 110, ?, 99, B1, 72, 63, 54, 45

(41) 131,2,3,5,7,10,13,17,21,7,7

(42) 145, 26, 131, 656, ?

(43) 15 1000,971.4,942.8,914.2, 8856, ?
(a4) 161,1, 3, 15,105, ?

(45) 17 36, 72, 7, 144, 180, 216, 252

(46) 181,1,25,35,4,6,55,85,7.7

(47) 191, 2,6, 12, 36,72, 216,7,?

(48) 20 14, 16, 28, 32, 42, 48, 56,64, 7, 7

(49) What Is 9 multiplied by 87

(50) What is 126 divided by 3?

(S1) What is 15 multiplied by 117
(52) what is 45% of 3007

(53) multiply 7 by 12 and divide by 6.
(54) Divide 56 by 8 and add 17.

(55) What Is 35% of 2507

(56) What is 58%of 2407

(57) multiply 15 by 6 and subtract 29.
(58) What Is 34% of 92 plus 137

(59) Multiply 7 by 4 by 6.

(60) Divide 52 by 4 and add 17 multiplied by 3.
(61) What is 3206 divided by 77

(62) Add 32 to 25.



(63) What is 55% of 3207

(64) What Is 59% of 2707

(65) Which is greater, 58% of 112

(66) Add 5683 to 1729 and divide by 2.
(67) Divide 672 by 12.

(68) Subtract 369 from 1250.

(69) Add 25% of 90 to 56% of 78.

(70) Multiply 72 by 15.

(71) Expressed 57/5 as a decimal?

(72) Deduct 865 from 1063.

(73) Multiply 694 by 11.

(78) multiply 86 by 9 and add to 13 multiplied by 6.
(75) What is 1000 less 59% of 1177
(76) What is 5.9 +56.8+7.347

(77) Deduct 7.3 from 34.2

(78) What number should replace the question mark?
10,11, 14,23, 7,131



EXERCISES OF NON-VERBAL INTELLIGENCE TEST:
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